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      :  

1.      . 14 
 

2.    . 14 
 

3.     . 14 
 

4.     ?           
 .  14 

 

5.        . 14 
 

6.       . 14 
 

7.       . 14 
 

8. WTO      . 14 

 
9.   . ( –  ) ( ) : 8 
 (1)    . 
 
 (2)    . 
 
 (3)     ? 
 
 (4)   . 
 
 (5)      ? 

__________ 
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Write answer to any three questions :  

1. Critically evaluate the growth model of Meade.  14 

2.    Discuss the growth model of Solow.  14 

3. Examine the growth model of Kaldor.  14 

4. What is technological progress ? Explain the concepts of neutral and non-neutral 

technical progress by Hicks and Herold.  14 

5. Examine the progress of Indian economy during the planning period.  14 

6. Discuss in detail need for investment criterion in developing countries.  14 

7. Discuss the World Bank policies for developing countries.  14 

8. Write a note on WTO and developing countries.  14 

 

9. Answer in short. (2 – 3 lines) (any four) : 8 

 (1) Give the meaning of economic growth. 

 (2) Give the meaning of economic development. 

 (3) What is indicative planning ? 

 (4) Give the meaning of infrastructure. 

 (5) Give the meaning of natural growth rate.  

__________ 


